



## S.T.P. Mechanical Ltd

Box 539  
Mayerthorpe AB  
TOE 1N0  
stpmechanicalltd@gmail.com  
7803960775  
GST #: 870435013  
Phone (780)-778-1666  
Office (780)-396-0775

## Invoice

Invoice No: 1372  
Date: 2025-06-26  
Terms: NET 0  
Due Date: 2025-06-26

Bill To: Patricks Ranching Ltd

Ship To:

Tracking No  
Ship Via  
FOB

Description	Quantity	Rate	Amount
light grommet	2	\$1.82	\$3.64
bolts	1	\$25.00	\$25.00
fuel filters	1	\$20.00	\$20.00
steel	1	\$25.00	\$25.00
discount	1	-\$300.00	-\$300.00
		Parts Subtotal	-\$226.36

Description	Quantity	Rate	Amount
Hours shop time	9	\$160.00	\$1,440.00
		Labour Subtotal	\$1,440.00

**Payment Details**

A 3% monthly service charge will be added to all past due invoices  
after 30 days

\*\*\* IF WE HAD YOUR WHEELS OFF PLEASE RE-TORQUE\*\*\*

Subtotal	\$1,213.64
GST 5%	\$60.68
Shipping	\$0.00
Total	\$1,274.32
PAID	\$1,274.32

**Paid**

Balance Due	\$0.00
-------------	--------

**Comments**

repaired cracks in pup tailgate  
replaced all rear side board mounts on truck box  
removed radiator replaced bottom tank and reinstalled  
replaced pigtail on IVA oil pressure sensor



## S.T.P. Mechanical Ltd

Box 539  
Mayerthorpe AB  
T0E 1N0  
stpmechanicalltd@gmail.com  
7803960775  
GST #: 870435013  
Phone (780)-778-1666  
Office (780)-396-0775

## Invoice

Invoice No: 1340  
Date: 2025-01-29  
Terms: NET 0  
Due Date: 2025-01-29

Bill To: Patricks Ranching Ltd

Ship To:

Tracking No  
Ship Via  
FOB

Description	Quantity	Rate	Amount
lh camshaft	2	\$52.25	\$104.50
rh camshaft	2	\$53.88	\$107.76
camshaft kit	2	\$22.81	\$45.62
axle washer	16	\$2.49	\$39.84
axle cone	24	\$3.59	\$86.16
5/8NF Nylock	32	\$0.68	\$21.76
axle gasket	4	\$6.13	\$24.52
wheel seal	4	\$90.71	\$362.84
3 axle Truck CVIP	1	\$375.00	\$375.00
3 axle trailer CVIP	1	\$250.00	\$250.00
king pin set	1	\$284.49	\$284.49
1810 u joint	1	\$160.14	\$160.14
yoke	1	\$374.43	\$374.43
yoke nut	1	\$53.35	\$53.35
spring pin	4	\$34.24	\$136.96
spring bushing	4	\$87.31	\$349.24

Description	Quantity	Rate	Amount
lights	1	\$49.40	\$49.40
axle stud	2	\$3.78	\$7.56
brake stroke indicator	12	\$1.78	\$21.36
brake hoses	1	\$68.59	\$68.59
cam seal	1	\$3.00	\$3.00
brake shoe kit	3	\$76.63	\$229.89
clevis pin kit	1	\$3.68	\$3.68
clevis	1	\$12.54	\$12.54
brake hardware kit	1	\$16.15	\$16.15
dust shield	1	\$67.39	\$67.39
air fitting	1	\$2.89	\$2.89
diff filter	1	\$15.94	\$15.94
spring pin shackle	4	\$41.34	\$165.36
shock mounting kit	1	\$12.89	\$12.89
freight from kw mechanical	1	\$45.31	\$45.31
diff stud	1	\$6.33	\$6.33
weatherpack connector	1	\$18.76	\$18.76
75w90 oil	1	\$256.33	\$256.33
exhaust kit	1	\$642.21	\$642.21
shipping	1	\$134.59	\$134.59
ECM/terminals	1	\$3,764.92	\$3,764.92
hydraulic swivel/seal kit	1	\$281.76	\$281.76
exhaust joint kit/taxi	1	\$536.78	\$536.78
clamps	1	\$55.87	\$55.87
ECM connector	1	\$163.30	\$163.30
Parts Subtotal			\$9,359.41

Description	Quantity	Rate	Amount
Hours shop time	47	\$160.00	\$7,520.00
		Labour Subtotal	\$7,520.00
<b>Payment Details</b>			
A 3% monthly service charge will be added to all past due invoices after 30 days		Subtotal	\$16,879.41
*** IF WE HAD YOUR WHEELS OFF PLEASE RE-TORQUE***		GST 5%	\$843.97
		Shipping	\$0.00
		Total	\$17,723.38
		PAID	\$17,723.38
		Balance Due	<b>\$0.00</b>

**Paid**

#### Comments

CVIP Truck and Pup  
 replaced axle 1 and 2 left brake shoes on pup  
 replaced ales 1.2 and 3 left brakes shoes on pup  
 replaced king pins on truck  
 replaced rear spring pins on both sides of truck axle 1  
 removed axle 2 differential on truck and resealed to housing  
 replaced all rear s cams/bushings on truck  
 replaced all rear wheel seals on truck  
 replaced all brake pins and axle 2 right clevis on truck  
 rewired front right signal light connector on truck  
 replaced axle 1 right dust cover on truck  
 replaced transmission u joint, yoke, and nut on truck  
 replaced 3 worn rear brake hoses on truck  
 replaced axle 1 right front spring hanger on pup  
 replaced ecm on truck and replaced truck side connector  
 repaired ecm harness  
 repaired wiring to accelerator pedal and cruise control switches